EAGLE'S NEST, INC WELR-AM / WELR-FM / WLAG-AM / 96.9 FM CORPORATE OFFICE 334.863.4139 304 East Broome Street Lagrange, GA 30240 USA

 Order #:
 2824-00002

 Description:
 2024 Election

 Date Entered:
 2/16/2024

P.O.#:

Salesperson: Vice, Coleman

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date Notary Req'd

Troy Davis for Probate Judge PO Box 899 Valley, AL 36854

Other (Non-Spot) Charges

	Start Date	End Date	Station	Description	on of Charge	Repeated		Qty						R	ate		Total
1	2/21/2024	2/21/2024	WELR-FM	Morning S	how Appearance 7E	Monthly		1						50.			50.00
2	3/5/2024	3/5/2024	WELR-FM	Morning S	how Call-in 7EST	Monthly		1						50.	00		50.00
	On-Air Schedule																
	Start Date	End Date	Station	Scheduled	l Time/Event	Repeated	Length	Oty	Rate	Total	M	Tu	W	Th	F	Sa	Su
1	2/26/2024	3/5/2024	WELR-FM	06:00:00	to 07:00:00	CUSTOM	:30	4	25.00	100.00	Y	N	N	N	Ý	N	N N
	2/26/2024	3/3/2						2	25.00	50.00	0	0	0	0	2	0	0
	3/4/2024	3/5/20	024					2	25.00	50.00	2	0	0	0	0	0	0
2		3/5/2024	WLAG/96	06:00:00	to 07:00:00	CUSTOM	:30	4	0.00	0.00	Υ	N	N	N	Υ	N	N
	2/26/2024	3/3/20						2	0.00	0.00	0	0	0	0	2	0	0
	3/4/2024	3/5/20	024					2	0.00	0.00	2	0	0	0	0	0	0
3		3/5/2024	WLWE-AM	06:00:00	to 07:00:00	CUSTOM	:30	4	0.00	0.00	Υ	N	N	N	Υ	N	N
	2/26/2024	3/3/20						2	0.00	0.00	0	0	0	0	2	0	0
	3/4/2024	3/5/20						2	0.00	0.00	2	0	0	0	0	0	0
4		3/5/2024	WELR-FM	11:00:00	to 12:00:00	CUSTOM	:30	10	16.00	160.00	Υ	Υ	Υ	Υ	Υ	N	N
	2/26/2024 3/4/2024	3/3/20						7	16.00	112.00	1	1	1	2	2	0	0
		3/5/20						3	16.00	48.00	2	1	0	0	0	0	0
5	2/26/2024	3/5/2024	WLAG/96	11:00:00	to 12:00:00	CUSTOM	:30	10	0.00	0.00	Υ	Υ	Υ	Υ	Υ	N	N
	2/26/2024 3/4/2024	3/3/20 3/5/20						7	0.00	0.00	1	1	1	2	2	0	0
_								3	0.00	0.00	2	1	0	0	0	0	0
6	2/26/2024	3/5/2024	WLWE-AM	11:00:00	to 12:00:00	CUSTOM	:30	10	0.00	0.00	Y	Υ	Υ	Υ	Υ	N	N
	2/26/2024 3/4/2024	3/3/20 3/5/20						7	0.00	0.00	1	1	1	2	2	0	0
	5/4/2024	3/3/20	24					3	0.00	0.00	2	1	0	0	0	0	0

Order Start Date: 2/21/2024 Order End Date: 3/5/2024 Spots: 42 Total Charges: \$360.00

Projected Calendar Month/End-0	Of-Schedule Billing Totals fo	r Troy Davis for Probate Judge / 2824-00002 :	
	Spot Count	Net Billing	
February 2024	15	\$130.00	
March 2024	27	\$230.00	
Total:	42	\$360.00	

Confirmed & Accepted for EAGLE'S NEST, INC By:

Accepted for Troy Davis for Probate Judge By:

## AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

FEDERAL CANDIDATE

## STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

avindow,	rederal Can	didates Mu	st Sign The	Certification	On Page 3
Station and	d Location:	place a jesti		Date:	21/24
I, TYOU being/on bei	1				
	lified candidat y for the office			ounty Prob	ate Judge
in the $\bigcirc$					- 12
election to be	e held on:	Maran	5th 20	24	
do hereby re	quest station t	ime as follow	s:		
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
Attach propos	sed schedule \	with charges (	(if available):		

represent that the payment for	or the above described broadcast	time has been furnished					
by: Troy D	avi 9						
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.							
The name of the treasurer of the	he candidate's authorized commit $\mathbb{V}\hat{\mathbb{S}}$	tee is:					
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).							
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.							
To Be Signed By Candidate or Authorized Committee							
21 Feb. 24 Date	Inoy Day Signature	Ŋ					
To Be Signed By Station Representative							
Accepted	☐ Accepted in Part	☐ Rejected					
Signature	Shelby Warhy	Traffic Manager					
oignature	Printed Name	Title					

Hello, Chambers County. I'm Troy Davis, and on March 5th, I'm asking for your vote as Probate Judge. I believe in hard work, integrity, and getting the job done. Throughout my management career, I've rolled up my sleeves to work alongside my team, and I'm committed to continuing that dedication in the probate office. Let's build a stronger community together. Vote for me, Troy Davis, on March 5th – your support means everything.

Paid for by the Troy Davis for Probate Judge Campaign.

Cart # 2986